

$$\frac{2 \times y \cancel{z}}{\cancel{z} \times \cancel{z}} = \frac{6^3}{2yz} \quad \text{for } x$$

$$x = \frac{3}{yz}$$

$$2 + x + y + z = 6 \quad \text{for } x$$

$$x = 6 - 2 - y - z$$

$$x = 4 - y - z$$

$$\frac{2 \times \cancel{y} \cancel{z}}{\cancel{z} \times \cancel{z}} = \frac{6}{2xz} \quad \text{for } y$$

$$y = \frac{3}{xz}$$

$$2 + x + y + z = 6 \quad \text{for } y$$

$$y = 6 - 2 - x - z$$

$$y = 4 - x - z$$

$$\frac{2 \times \cancel{x} \cancel{z}}{\cancel{z} \times \cancel{z}} = \frac{6}{2xy} \quad \text{for } z$$

$$z = \frac{3}{xy}$$

$$2 + x + y + z = 6 \quad \text{for } z$$

$$z = 6 - 2 - x - y$$

$$z = 4 - x - y$$

$$2x + y + z = 6 \text{ for } x$$

$$\frac{2x}{2} = \frac{6-y-z}{2}$$

$$x = 3 - \frac{y}{2} - \frac{z}{2}$$

$$2xy + z = 6 \text{ for } x$$

$$\frac{2xy}{2y} = \frac{6-z}{2y}$$

$$x = \frac{3}{y} - \frac{z}{2y}$$

$$2x + y + z = 6 \text{ for } y$$

$$y = 6 - 2x - z$$

$$2xy + z = 6 \text{ for } y$$

$$\frac{2xy}{2x} = \frac{6-z}{2x}$$

$$y = \frac{3}{x} - \frac{z}{2x}$$

$$2x + y + z = 6 \text{ for } z$$

$$z = 6 - 2x - y$$

$$2xy + z = 6 \text{ for } z$$

$$z = 6 - 2xy$$

$$2x + 4z = 6 \text{ for } x$$

$$\frac{2x}{2} = \frac{6}{2} - \frac{4z}{2}$$

$$x = 3 - \frac{4z}{2}$$

$$2x + 4z = 6 \text{ for } y$$

$$\frac{4z}{2} = \frac{6}{2} - \frac{2x}{2}$$

$$y = \frac{6}{2} - \frac{2x}{2}$$

$$2x + 4z = 6 \text{ for } z$$

$$\frac{4z}{4} = \frac{6}{4} - \frac{2x}{4}$$

$$z = \frac{6}{4} - \frac{2x}{4}$$

11) $P = a + b + c$ for b

$$P - a - c = b$$

12) $c + d = e$ for d

$$d = e - c$$

15) $A = \frac{bX}{h} \frac{K}{K}$ for b

$$\frac{A}{h} = b$$

21) $3x + y = 1$ for y

$$y = 1 - 3x$$

24) $7x + 3y = 1$ for y

$$\frac{3y}{3} = \frac{1 - 7x}{3} \frac{3}{3}$$

$$y = \frac{1}{3} - \frac{7x}{3}$$

$$27) 4x - 3y = 12 \text{ for } y$$

$$\frac{-3y}{-3} = \frac{12 - 4x}{-3}$$

$$y = -4 + \frac{4x}{3}$$

$$30) ax + by = c \text{ for } x$$

$$\frac{ax}{a} = \frac{c - by}{a}$$

$$x = \frac{c}{a} - \frac{by}{a}$$

$$33) a = 2(b + c) \text{ for } b$$

$$a = 2b + 2c$$

$$\frac{a - 2c}{2} = \frac{2b}{2}$$

$$\frac{a}{2} - c = b$$

$$36) Q = \frac{a - b}{2} \text{ for } a$$

$$\frac{2Q}{2} = \frac{a}{2} - \frac{b}{2}$$

$$2Q = a - b$$

$$2Q + b = a$$